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【國文】 

(2)01.下列各文句「 」內的用字，何者正確無誤？ 

(1)顏色憔「粹」，形容枯槁        (2)「猝」有變故，措手不及 

(3)困知勉行，「瘁」礪奮發        (4)鞠躬盡「悴」，死而後已 

(2)02.下列各詞語「 」內的字，何者與「陽光和煦」的「煦」字讀音相同？ 

(1)「虛」張聲勢        (2)「栩」栩如生        (3)學貫中「西」        (4)囊空如「洗」 

(1)03.下列「 」內的成語，何者使用正確？ 

(1)他的人品甚高，胸懷灑落，如「光風霽月」 

(2)他家境富裕，住的是「金匱石室」，真令人羨慕 

(3)我決定「刻舟求劍」報考醫學院，承繼父親行醫濟世的志願 

(4)一個經常「隨風轉舵」的人，即使面臨再大的困難，也會朝既定的目標前進 

(1)04.古人以天干、地支記載時日，今年（中華民國九十七年）歲次是戊子；中華民國九十三年的歲次是

什麼？ 

(1)甲申        (2)乙酉        (3)壬午        (4)癸未 

(4)05.「醉別西樓醒不記，春夢秋雲，聚散真容易。斜月半窗還少睡，畫屏閒展吳山翠。 衣上酒痕詩裏字

，點點行行，總是凄涼意。紅燭自憐無好計，夜寒空替人垂淚。」這一闋晏幾道的〈蝶戀花〉，其

中哪一句是以「擬人化」的修辭法寫成的？ 

(1)春夢秋雲，聚散真容易                                       (2)斜月半窗還少睡，畫屏閒展吳山翠 

(3)衣上酒痕詩裏字，點點行行，總是凄涼意        (4)紅燭自憐無好計，夜寒空替人垂淚 

(3)06.下列題辭，何者適用於法院？ 

(1)為民喉舌        (2)妙手回春        (3)明鏡高懸        (4)春風化雨 

(3)07.對於喪葬，下列何者可書寫在禮金封套上？ 

(1)贄儀        (2)程儀        (3)賻儀        (4)桃儀 

(2)08.某甲在自我介紹時，說他「方知天命」；某乙則自稱「年近古稀」，那麼他們兩人的實際年齡，大

約相差多少歲？ 

(1)十歲        (2)二十歲        (3)三十歲        (4)四十歲 

(2)09.《論語•為政》：「子曰：學而不思則罔，思而不學則殆。」句中「殆」字的意思，下列何者正確？ 
(1)因循、茍且        (2)危險、不安        (3)遲緩、退步        (4)錯誤、雜亂 

(1)10.《管子•牧民》說：「國多財，則遠者來；地辟舉，則民留處。」其中的「舉」字與下列哪一詞語中
的「舉」字同義？ 

(1)「舉」國歡騰        (2)「舉」棋不定        (3)「舉」止不凡        (4)「舉」重若輕 
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(2)11.「倉廩實則知禮節，衣食足則知榮辱」，這是哪一位政治家的名言？ 

(1)商鞅        (2)管仲        (3)董仲舒        (4)歐陽脩 

(4)12.下列何書屬於「十三經」之一？ 

(1)道德經        (2)靈樞經        (3)莊子        (4)左傳 

(3)13.「天下為公」一語是出自於下列哪一部書？ 

(1)論語        (2)孟子        (3)禮記        (4)史記 

(4)14.下列成語何者解說正確？ 

(1)明火執仗：形容觀察至為清楚        (2)如湯沃雪：形容情勢非常危險 

(3)倚馬可待：比喻富貴就在眼前        (4)目無全牛：比喻技藝純熟高超 

(3)15.「先天下之憂而憂，後天下之樂而樂」、「出師未捷身先死，長使英雄淚滿襟」、「文起八代之衰

，道濟天下之溺」；以上詩句，與下列何組歷史人物有關？ 

(1)孟子、岳飛、韓愈                (2)孟子、岳飛、歐陽脩 

(3)范仲淹、諸葛亮、韓愈        (4)范仲淹、諸葛亮、歐陽脩 

(4)16.《三字經》所云：「□□□，二十七，始發憤，讀書籍。彼既老，猶悔遲，爾小生，宜早思。」句

中缺空所指的是何人？ 

(1)李太白        (2)白樂天        (3)韓昌黎        (4)蘇老泉 

(3)17.「所謂犯難之交，是為他付湯蹈火？還是和他一起挺而走險？實在令人徬徨無耐。」這一段文句的

錯別字共有幾個？ 

(1)二個        (2)三個        (3)四個        (4)五個 

(4)18.依中國文字的造字方法，下列何者錯誤？ 

(1)「日、月」是象形        (2)「上、下」是指事 

(3)「武、信」是會意        (4)「鳴、吠」是形聲 

(3)19.下列各書及作者的搭配，何者為正確？ 

(1)《世說新語》→羅貫中        (2)《三國演義》→吳敬梓 

(3)《聊齋誌異》→蒲松齡        (4)《老殘遊記》→劉義慶 

(2)20.古語說：「一字之褒，榮於華袞；一字之貶，嚴於斧鉞。」下列哪一部經書的內容與精神最能彰顯

此一特點？ 

(1)《周易》        (2)《春秋》        (3)《尚書》        (4)《禮記》 

(4)21.《詩經》有所謂「六義」，其中「賦、比、興」是作詩的方式，那麼「風、雅、頌」是指詩的什麼

？ 

(1)典故        (2)地域        (3)歌譜        (4)體裁 

(2)22.下列成語，何者可用來「形容藏書豐富」？ 

(1)四角俱全        (2)汗牛充棟        (3)讜論紛陳        (4)鳳毛麟角 

(1)23.下列文句中的「與」字，何者作「支助、贊助」解？ 

(1)天道無親，常「與」善人        (2)選賢「與」能，講信修睦 

(3)日月逝矣，歲不我「與」        (4)民吾同胞，物吾「與」也 

(4)24.下列文句，何者有「物盡其用」的意思？ 

(1)己欲立而立人，己欲達而達人        (2)謀閉而不興，盜竊亂賊而不作 

(3)力惡其不出於身也，不必為己        (4)貨惡其棄於地也，不必藏於己 

(3)25.在語文中，用兩個(含)以上結構相似的句法，接連的表現同範圍、同性質的意象，叫做「排比」。
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下列文句何者是屬於「排比」？ 

(1)只許州官放火，不許百姓點燈 

(2)東邊日出西邊雨，道是無晴卻有晴 

(3)富貴不能淫，貧賤不能移，威武不能屈，此之謂大丈夫 

(4)朝辭爺娘去，暮宿黃河邊，不聞爺娘喚女聲，但聞黃河流水鳴濺濺 

 

【英文】 

(一)字彙 

(3)26. Consumers benefited from ______ competition between the two computer companies, which both cut their 

laptop prices in half. 

(1) sparse        (2) scarce        (3) fierce        (4) fraud 

(4)27. The ______ is poor because of the rain; therefore, you should drive slowly. 

(1) region        (2) scenery        (3) eyesight        (4) visibility 

(2)28. I'm sorry we cannot help you, sir, because that would be ______ the law. 

 (1) prohibiting        (2) violating        (3) completing        (4) forbidding 

(2)29. Generally speaking, an attractive, well-written resume will ______ your chances of getting a good job. 

(1) control         (2) enhance        (3) humiliate        (4) comprehend 

(3)30. Although the police did not find out who stole the money from the bank, they have a strong ______ that it was  

a man who used to work there. 

(1) hesitation         (2) sensation         (3) suspicion         (4) extension 

(1)31. My father began to eat more fruit after the doctor determined that a vitamin ______ was causing his health  

problem. 

(1) deficiency         (2) deformity         (3) disposition         (4) discernment 

(3)32. A government officer should always try to make a clear ______ between right and wrong. 

(1) imputation         (2) extinction         (3) distinction         (4) assumption 

(1)33. Words of the offer gave some investors ______ although Buffett said a deal would only back municipal bonds, 

and not the risky and complicated financial instruments. 

(1) relief        (2) rebound        (3) recluse        (4) recreation 

(二)文法 

(2)34. John has been invited to the party, but he doesn't know ________ or not. 

(1) if to go        (2) whether to go        (3) if he does go        (4) whether does he go 

(1)35. Miss Chang is still looking for a job, but she hopes ________ something soon. 

(1) to find        (2) finding        (3) to have found        (4) having found 

(2)36. I've lost my purse. I must ________ it somewhere. 

(1) be dropping        (2) have dropped        (3) be dropped        (4) have being dropped 

(4)37. Ang Lee ________ one of the best movie directors in the world. 

(1) considers being        (2) has considered to be        (3) may consider being        (4) is considered to be 

(3)38. My number one advertising principle ─ ________ ─ is to wake up the consumers. 

(1) because I have one        (2) but I have one        (3) if I have one        (4) since I have one 

(2)39. In ________ of Taiwan lies the city of Kaohsiung, the major industrial and shipping center of the island. 
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(1) south-west        (2) the south-west        (3) southern-west        (4) south-western 

(1)40. Throughout the world, several _________ suffer from AIDS. 

(1) millions of people        (2) million of peoples        (3) million people        (4) million of people 

(三)克漏字測驗 

        Many people often have the idea that a lawyer is a person who makes long speeches before a court. __41__, the  

average lawyer spends very little time in court. __42__ a trial lawyer does most of his work in his office. He often has  

to spend weeks or months studying related materials for a trial case, __43__ the trial may last only a day or two in the  

courtroom. 

        Most lawyers also spend a great deal of time in giving advice __44__ legal matters. They draw up contracts, wills, 

and other legal papers. They try to settle __45__ without lawsuits. In fact, many people agree that the best lawyer is the 

one who can protect the interests of his client without going to the court. 

(3)41.(1) To begin with        (2) Moreover        (3) In fact               (4) In addition 

(3)42.(1) As                         (2) Only               (3) Even                 (4) Still 

(2)43.(1) once                      (2) while               (3) as for                (4) as though 

(1)44.(1) on                         (2) from                 (3) at                     (4) with 

(2)45.(1) exertions               (2) benefits             (3) documents        (4) compromises 

(四)閱讀測驗 

        Many economists warned that the U.S. economy is taking one of its cyclical snoozes. However, the predictions of 

a deep downturn are highly exaggerated, in part because Washington is rushing to revive the declining economy. GDP   

increased 0.6% in the fourth quarter of 2007, after a powerful 4.9% surge in the third 

quarter. Exports are booming, growing at an annual rate of 13%, thanks to the weak dollar. The employment picture is  

surprisingly resilient. Jobless claims, a reliable indicator of recession, have averaged about 325,000 for the past four  

weeks, far below the danger point. "We haven't seen the 25% increase in jobless claims we had before the last two  

recessions," says Michael Darda, chief economist with MKM Partners, an equity trading and research firm. "We're not  

getting a recession signal.” 

        The forces weighing down the economy are soft consumer spending and plunging housing prices, along with far  

more expensive credit that's slowing everything from auto purchases to the creation of new businesses. Those factors are 

a serious drag on demand. But they pose their gravest threat in the first two quarters of 2008. In other words, if we're  

going to get a recession, it will most likely happen amid this turmoil, in the first half of this year. 

(4)46. According to the passage, which of the following is true about the U.S. job market？ 

(1) There has been a 25% increase in jobless claims last year. 

(2) The unemployment rate is now higher than the danger point. 

(3) In the fourth quarter of 2007 the unemployment rate has increased about 13%. 

(4) In the past four weeks the average of the jobless claims was about 325,000. 

(1)47. According to the passage, which of the following is NOT a reason that may lead to a recession for the U.S. 

economy？ 

(1) Low GDP.        (2) Falling housing prices.        (3) Weak consumer demand.        (4) Expensive credit. 

(3)48. The word “resilient” is closest in meaning to _____. 

(1) high        (2) weak        (3) durable        (4) changeable 

(3)49. What may be inferred about the author's attitude about the U.S. economy？ 

(1) Pessimistic.        (2) Optimistic.        (3) Neutral.        (4) Indifferent. 
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(3)50. When was this passage was most likely written？ 

(1) September 2007.        (2) December 2007.        (3) January 2008.        (4) June 2008. 
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